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BAKE KRS
Q | BlmaEsRE | M TER | RARME | ATTL— BisafiE |JL—%| FDH | #THEE R /Y —F
1 |12:00 6:23 5:37 ONSIDE B -45 12 3 R’ -14 FG 41
4:44 4:38 0:06 PUNT B -24 1 0 B -24 INT 0
3:23 0:00 -—— KO H -29 - - B -49 nd -
2 | 12:00 11:54 3:29 d H -49 7 1 B -49 PUNT 20
7:04 5:02 2:02 INT B -1 4 0 B -10 PUNT 9
2:42 1:18 1:24 KO BH -8 4 0 B -1 PUNT 3
0:48 0:00 0:48 PUNT B -15 2 0 B -21 END 6
3 |11:51 7:58 3:53 KO H -45 8 3 -1 4DOWN 54
5:57 3:12 2:45 PUNT B’ -43 6 2 B’ -10 FG 33
4 | 5:53 2:25 3:28 4DOWN B -20 7 1 B -36 PUNT 16
1:30 0:00 1:30 INT B -45 3 0 B -27 END -18
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Q | BmaRsRE | M TER | RARME | AIL— BisafiE |JL—%| FDH | HTHEE R HHY—F
1 6:17 4:44 1:33 KO R’ -32 4 0 " -4 PUNT 9
4:38 3:29 1:09 INT B -33 3 1 B-0 TD 33
2 | 11:54 7:04 4:50 PUNT R -13 9 4 B -10 INT 77
5:02 2:50 2:12 PUNT B -4 5 2 BH-0 TD 41
1:18 0:48 0:30 PUNT B -48 4 0 B -48 PUNT 4
3 7:58 5:57 2:01 4DOWN R’ -1 5 1 ®-1 PUNT 10
3:08 0:02 3:06 KO R -10 6 1 H-14 PBLK 4
4 | 12:00 5:53 6:07 KO B’ - 31 12 3 B -20 4DOWN 49
2:25 1:30 0:55 PUNT R -24 4 1 W’ -38 INT 14
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Q| No [ TOGO|PLAY PLAYERS Y—F|[#8(| [qQ| No |4z TOGO| PLAY  PLAYERS Y—F| @8
1l 1 [® 49 | 4 | RUN| #k 710 1l 1 [® 40| 2 RUN | #H 1 x
2 |® 23 1 | RUN [ Xi# 410 2| 2 |8 10| 7 | PASS | ki — — | INT
3 (® 15| 6 |PASS| = - @ | 1 x 3 |B 39| 8 | PASS | 5% — #HA | 10| O
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1|8 34 8 | RUN it 2 X
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3 1 (= 4 4 | RUN| it 3| x 4l 1|8 49| 1 | RUN | f%8% 6 [ O
ma | 1 [mmm| o [mm=] oo ma | 1 | mwm | 1 [mws] 100.0
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